

NAME: MANISH KOLLINS
 MATRIC NO: 16/ENG01039
 DEPARTMENT: CIVIL ENGINEERING
 LEVEL: 2ND
 COURSE CODE: EN6281

1 Evaluate the following limit of functions

$$\lim_{x \rightarrow \frac{\pi}{2}} \left[\frac{(x^2 - \frac{\pi}{4}) \sin(\cos x)}{x - \frac{\pi}{2}} \right]$$

SOLN

Applying product rule, $V \frac{dV}{dx} + V \frac{dV}{dx}$
 for numerator

$$U = x^2 - \frac{\pi}{4}, \quad V = \sin(\cos x)$$

$$b = \cos x, \quad V = \sin b$$

$$\frac{dV}{dx} = -\sin x, \quad \frac{dV}{dx} = \cos b = \cos(\cos x)$$

$$\frac{dV}{dx} = \frac{dV}{db} \times \frac{db}{dx} = \sin x \times \cos(\cos x)$$

$$\frac{dV}{dx} = -\sin x \cos(\cos x)$$

$$\therefore \lim_{x \rightarrow \frac{\pi}{2}} \left[\frac{(x^2 - \frac{\pi}{4}) (-\sin x \cos(\cos x) + \sin(\cos x) (\cos x))}{x - \frac{\pi}{2}} \right]$$

denominator: $\frac{d}{dx} \left(x - \frac{\pi}{2} \right) = 1$

$$\lim_{x \rightarrow \frac{\pi}{2}} \left[\frac{\left(\frac{\pi^2}{4} - \frac{\pi}{4} \right) \left(\cos(\cos \frac{\pi}{2}) \right) \cdot \sin x + 2 \left(\frac{\pi}{4} \right) \sin(\cos \frac{\pi}{2})}{1} \right]$$

$$= \frac{\pi \sin 0 + \left[\frac{\pi^2}{4} - \frac{\pi}{4} \right] \cos 0 (\sin \frac{\pi}{2})}{1}$$

$$= 0 + \left[\frac{\pi^2}{4} - \frac{\pi}{4} \right] \cdot 1 \cdot (1)$$

$$\lim_{x \rightarrow 2} \frac{x \left(\sqrt{x-1} - 1 \right)}{4} = \frac{-\sqrt{x-1} + \sqrt{x}}{4}$$

14. $\lim_{x \rightarrow 2} \ln \left[\exp \left(\frac{3x^2 + 2x - 1}{x+1} \right) \right]$

SOLN

Factorizing $(5x^2 + 2x - 1)$

$$3x^2 + 3x - x - 1 = 3x(x+1) - 1(x+1)$$

$$= (3x-1)(x+1)$$

$$\exp \left(\frac{(3x-1)(x+1)}{x+1} \right) = \exp(3x-1)$$

$$= \exp(3x-1)$$

$$\lim_{x \rightarrow 2} \ln(\exp(3x-1))$$

$$= \lim_{x \rightarrow 2} \ln(\exp(3(2)-1))$$

$$= \lim_{x \rightarrow 2} \ln(\exp(3(2/2)-1)) = \ln(40.9515)$$

$$\lim_{x \rightarrow 2} \ln \left(\exp \left(\frac{5x^2 + 2x - 1}{x+1} \right) \right) = 3.212411$$

15. $\lim_{x \rightarrow 2+\sqrt{3}} \cos \left(\sin^{-1} \left(\frac{x-2}{x-\sqrt{3}} \right) \right)$

SOLN Solving directly

$$\left[\sin^{-1} \left(\frac{(2+\sqrt{3})-2}{(2+\sqrt{3})-\sqrt{3}} \right) \right]$$

$$= \left[\sin^{-1} \left(\frac{\sqrt{3}}{2} \right) \right] = 60$$

$$\cos(60) = 1/2$$

$$\lim_{x \rightarrow 2+\sqrt{3}} \cos \left(\sin^{-1} \left(\frac{x-2}{x-\sqrt{3}} \right) \right) = 1/2$$

$$\lim_{x \rightarrow 4} \left[\frac{x^2 - 8x + 16}{x - 5x + 4} \right]$$

Solve

Solving directly

$$\lim_{x \rightarrow 4} \left[\frac{(4)^2 - 8(4) + 16}{(4) - 5(4) + 4} \right] = \frac{0}{0} \text{ indeterminate}$$

$$= \frac{16 - 32 + 16}{16 - 20 + 4} = \frac{0}{0} \text{ indeterminate}$$

Apply L'Hopital's rule

$$\lim_{x \rightarrow 4} \left[\frac{x^2 - 8x + 16}{2x^2 - 5x + 4} \right] = \lim_{x \rightarrow 4} \left[\frac{2x - 8}{2x - 5} \right] = \frac{2(4) - 8}{2(4) - 5}$$

$$= \frac{8 - 8}{8 - 5} = \frac{0}{3}$$

The result is undefined.

2 Determine whether each of the following series is convergent

16 $\sum_{n=1}^{\infty} \frac{2}{3n^4} + \frac{2}{4n^5} + \frac{2}{5n^6} + \dots$

Solve

Comparing the series to a standard series that converges

$$\frac{1}{1^p} + \frac{1}{2^p} + \frac{1}{3^p} + \frac{1}{4^p} + \frac{1}{5^p} + \frac{1}{6^p} + \dots$$

when $p > 1$

$$\frac{1}{1^2} + \frac{1}{2^2} + \frac{1}{3^2} + \frac{1}{4^2} + \frac{1}{5^2} + \frac{1}{6^2} + \dots$$

$$\frac{2}{1^2} < \frac{1}{1^2}, \frac{1}{2^2} < \frac{1}{2^2}, \frac{2}{3^2} < \frac{1}{3^2}, \frac{2}{4^2} < \frac{1}{4^2}$$

Each term in the series is less than the corresponding term in the series known to converge. Therefore the series is convergent.

11

$$25 \quad \frac{2}{1^2} + \frac{2}{2^2} + \frac{2}{3^2} + \frac{2}{4^2} + \dots$$

soln

Comparing the series to a standard series R
converge

$$\frac{1}{1^p} + \frac{1}{2^p} + \frac{1}{3^p} + \frac{1}{4^p} + \frac{1}{5^p} + \dots$$

when $p > 2$

$$\frac{1}{1^2} + \frac{1}{2^2} + \frac{1}{3^2} + \frac{1}{4^2} + \frac{1}{5^2} + \dots$$

$$\frac{2}{1^2} > \frac{1}{1^2}, \frac{2}{2^2} > \frac{1}{2^2}, \frac{2}{3^2} > \frac{1}{3^2}, \frac{2}{4^2} > \frac{1}{4^2}$$

Each term of the series is greater than the corresponding term in the series, therefore the given series diverges.

26

$$u_n = \frac{1 + 2n^2}{1 + n^2}$$

soln

$$u_{n+1} = \frac{1 + 2(n+1)^2}{1 + (n+1)^2}$$

MANUSSEK COLLINS
 CIVIL ENGINEERING
 16/ENG03/039
 EN6281

$$U_{n+1} = \frac{1+2(n+1)^2}{1+(n+1)^2} \times \frac{1+n^2}{1+2n^2}$$

$$U_n = \frac{1+2n^2+4}{1+n^2} = n+1$$

$$\text{take } (n+1)^2 = n^2 + 2n + 1$$

$$U_{n+1} = \frac{1+2(n^2+2n+1)}{1+n^2+2n+1} \times \frac{1+n^2}{1+2n^2}$$

$$= \frac{(1+2n^2+4n+2)(1+n^2)}{(1+n^2+2n+2)(1+n^2)}$$

$$= \frac{2n^2+4n+3}{n^2+2n+2} \times \frac{2n^4+4n^3+3n^2}{2n^4+4n^3+4n^2}$$

$$= \frac{5n^2+4n+3}{2n^4+4n^3+5n^2+4n+3}$$

$$\lim_{n \rightarrow \infty} = \left\{ \frac{2 + \frac{4}{n} + \frac{3}{n^2} + \frac{3}{n^4}}{2 + \frac{4}{n} + \frac{5}{n^2} + \frac{4}{n^3} + \frac{3}{n^4}} \right\}$$

$$\leq \frac{2}{2} = 1 \quad (\text{IN DETERMINABLE})$$

3 Find the range of values of x for which the series below is absolutely convergent

$$x + x^2 + \dots + \frac{x^n}{(2n+1)}$$

SOLN

Solve

$$|u_n| = \frac{x^n}{(2n+1)^3}$$

$$|u_{n+1}| = \frac{x^{n+1}}{(2n+1)^3} = \frac{x^{n+1}}{(2n+2)^3}$$

$$\text{Ratio } \frac{|u_{n+1}|}{|u_n|} = \frac{x^{n+1}}{(2n+2)^3} \times \frac{(2n+1)^3}{x^n}$$

$$\lim_{n \rightarrow \infty} \frac{|u_{n+1}|}{|u_n|} = \lim_{n \rightarrow \infty} \left[\frac{x (2n+1)^3}{(2n+2)^3} \right]$$
$$= \frac{x}{1} \left(\frac{2}{2} \right)^3 = x$$

$\therefore -1 < x \leq 1$ is the range of values of x

4 Evaluate using L'Hopital's Rule.

$$\lim_{x \rightarrow 0} \left[\frac{\sin x - \cos x}{x^3} \right]$$

Solve

Solving directly gives $\frac{0-1}{0} = \infty$

L'Hopital's Rule

Applies L'Hopital's Rule

$$\lim_{x \rightarrow 0} \left[\frac{\sin x - \cos x}{x^3} \right] = \lim_{x \rightarrow 0} \left[\frac{\cos x + \sin x}{3x^2} \right] = \frac{1-0}{3(0)^2}$$
$$= 0$$

Apply the rule 2nd time

$$\lim_{x \rightarrow 0} \left[\frac{\sin x - \cos x}{x^3} \right] = \lim_{x \rightarrow 0} \left[\frac{\cos x + \sin x}{3x^2} \right] =$$
$$\lim_{x \rightarrow 0} \left[\frac{-\sin x + \cos x}{6x} \right] = \frac{0+1}{6(0)} = 0$$

Apply the rule 3rd time

$$\lim_{x \rightarrow 0} \left[\frac{\sin x - \cos x}{x^3} \right] = \lim_{x \rightarrow 0} \left[\frac{\cos x + \sin x}{3x^2} \right] =$$

$$\lim_{x \rightarrow 0} \left[\frac{-\sin x + \cos x}{6x} \right] = \lim_{x \rightarrow 0} \left[\frac{-\cos x - \sin x}{6} \right] = \frac{-1-0}{6}$$
$$= \frac{-1}{6}$$